Spacer (if req'd.)

MAILBOX

Ground line

[ Nominal 4" x 4"

post (treated)

WITH WOOD POST

Details above platform same as
shown above with wood post.

Platfrom

Bracket

10" max.

WITH PIPE POST

e
r
Nominal 2" std. galv.
L pipe238"0D) T | -® 2Reqa.
o b
| Antistplate ——
o gk

LEGEND

@ #8-32 x "L" truss head machine screw with two #8
flat washers, #8 lock washers, and #8 hex nut.

@ 5/16"-18 x 3/4" hex cap screw with two 5/16" flat washers,
5/16" lock washer and 5/16" hex nut.

@ 5/16"-18 x 4 1/2" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ 5/16"-18 x 3" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ Nominal 2 3/4" muffler clamp

@ For platfrom, bracket, shelf, spacer and anti-twist plate
details, see Standard Drawing E 611-MBAS-03.

INDIANA DEPARTMENT OF TRANSPORTATION

SINGLE MAILBOX ASSEMBLY

MARCH 2005
STANDARD DRAWING NO. E 611-MBAS-01
S
g0 L Vo,
S <
SAS) 'z
B g zz /s/ Richard L. VanCleave 3-01-05
H ™ = | "DESIGN STANDARDS ENGINEER DATE
i3 LE
N O | Lst_Aicnard k.Smutzer 30105
”/,/,{ ONAL %\\\0‘ CHIEF HIGHWAY ENGINEER DATE
L
DESIGN STANDARDS ENGINEER




Spacer (if req'd)

Top of post ~.

MAILBOX

(3 2Reqd /Q |

| Nomina1 4" x 4" post (treated)

WITH WOOD POST

Details above platform same as
shown above with wood post.

Top of post :Q_ ot IL‘E—W—” —— Platform
™~ had | e e R Shelf
T Bracket
o«
[}
Cy — —| (@) 2Reqd
\C
Ground line
o/\
Nominal 2" std. galv. _
L pipe (2 3/8" 0.D.)
O‘ ‘O B
| | / Anti-twist plate =~ ——_
o o :
| I 2Reqd (5

WITH PIPE POST

LEGEND

@ #8-32 x "L" truss head machine screw with two #8
flat washers, #8 lock washers, and #8 hex nut.

@ 5/16"-18 x 3/4" hex cap screw with two 5/16" flat washers,
5/16" lock washer and 5/16" hex nut.

(3) 5/16™18 x 4 1/2" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ 5/16"-18 x 3" hex cap screw with two 5/16" flat washers,
5/16" lock washer, and 5/16" hex nut.

@ Nominal 2 3/4" muffler clamp

For platfrom, bracket, shelf, spacer and anti-twist plate
details, see Standard Drawing E 611-MBAS-03.

INDIANA BEPARTMENT OF TRANSPORTATION

DOUBLE MAILBOX ASSEMBLY

MARCH 2005
STANDARD DRAWING NO. E 611-MBAS-02
S
e L Vo,
S Q.
SAS) 'z
B g zz /s/ Richard L.VanCleave 3-01-05
H ™ = | "DESIGN STANDARDS ENGINEER DATE
i3 LE
N | Lst_Aichard k. Smutzer 30105
”/,/,{ ONnAL %\\\0‘ CHIEF HIGHWAY ENGINEER DATE
L
DESIGN STANDARDS ENGINEER




4

8"

% oye i 29m
A\ —— -
= iy A=
«~ =

“ A

"ok !
(3]

4" Dia.

4 Holes

BRACKET

FINISHED BRACKET
ISOMETRIC

4% 4%
L ‘/2" R ﬂ ‘ r a
! w T Yg"
ED T ‘ S —
70 . M—
f U] T
4" x 1'/1"J %" 1%s" \
4 Slots ‘ b= XA
2% | 2w 4 Slots
[ e —
|
Y x - -
6 Slots
P i rmp— ]
PLATFORM
-
3% %
_\-[ - 14% -
% “{ _ _ o
- I
pgms
1
%" Dia. %" %"
4 Holes
ANTI-TWIST PLATE

I: Length to fit

=

Nominal 2"
Std. Wi Pipe

SPACER

INDIANA BEPARTMENT OF TRANSPORTATION

MAILBOX SUPPORT HARDWARE

MARCH 2005

STANDARD DRAWING NO. E 611-MBAS-03

T
o Le Vo

DESIGN STANDARDS ENGINEER

/s/_Richard L. VanCleave 3-01-05

DESIGN STANDARDS ENGINEER DATE

/s/ Richard K.Smutzer 3-01-05

CHIEF HIGHWAY ENGINEER DATE




GENERAL NOTES

See plans for W
The normal height range is 3'-3 to 3'-11. Contact the local
postmaster to establish appropriate installation height.

Established by the U.S. Postal Service, usually 3'4 to 4-0.

Face of guard rail and
face of mailbox

Mailbox assembly

W @ 8"to 1-0
@ ‘ Mailbox assembly
Edge pvm't _§ -
2
Normal Varies
shidr. slope 2%
——— NE
b
Shoulder section as shown on plans
NORMAL SHOULDER SECTION
w @  0to2-0
Edge Pvm't ] — q
=
g )
0 to min.
Normal j: . .
Shidr. Slope o3 2-0 desir.
e ———— ]
L T
—
. ‘ I

Shoulder section as shown on plans

SHOULDER SECTION WITH GUARDRAIL

Van'es@

10" Max.

,| Anti-twist plate (typ.)
Use with pipe support
only

Ground line

B

0

H
'L@@

SPACING FOR MULTIPLE POST INSTALLATION

Face of curb
8"to 1'-0

INDIANA DEPARTMENT OF TRANSPORTATION
MAILBOX ASSEMBIES

Mailbox assembly

ELEVATION VIEW
- MARCH 2005
El 2/ STANDARD DRAWING NO. E_611-MBAS-04
i -
CURBED SECTION /s/ Richard L. VanCleave 3-01-05
DESIGN STANDARDS ENGINEER DATE
/s/ Richard K.Smutzer 3-0-05
CHIEF HIGHWAY ENGINEER DATE
[ DESIGN STANDARDS ENGINEER |




	E611-MBAS-01
	BACK

	E611-MBAS-02
	BACK

	E611-MBAS-03
	BACK

	E611-MBAS-04
	BACK


